Model

| /(Meter in)

HVCF01$

BERET) Cracking pressure (MPa) 0.04 0.04 0.04 0.04
HARREERE Recommended tightening torque (N-m) 10 30 35 10
& & Mass (kg) 0013 0.024 0.038 0.011

RUSH( H Em7) Model /(Oil outlet throttle)

HVCF01-0

HVCF02-0

RS Cracking pressure (MPa) 0.1 0.1 0.1

R ERAE Recommended tightening torque (N-m) 10 30 35

B & Mass (kg) 0.013 0.024 0.038
(EFHETEE : 1 ~ 7MPa {RBTIE : 10.5MPa  (EFRIEIEERE : 0 ~ 70°C

(EFAAS | EEERHERES ( B 1S0-V632)

Working pressure range: 1~ 7MPa  Proof pressure: 105 MPa

Fluid used: General mineral based hydraulic oil (ISO-VG32 equivalent)

W00 NOYSORYM} MMM

Operating temperature: 0 ~ 70C

HVCF®-@ @l : HVCF02-0)(Example:HVCF02-0)

HVCF

p 223

@ k) Size

01

02

03

01s

:G1/8

:G1/4

:G3/8

:G1/8

FiES @ #ETER ¢

R e EHEENE

O HilHii

o] &

2350 150 EfFGE: RE

Model HVCF

2 il

9" }ER ¢ % Dimension table

Ean
VB Body i s (mm)
T todel  HVCFO1 | HVCF02 | HVCF03
v Nut i s s °¢€! | HVCF01-0 HVCF02-0 HVCF03.0 HVCF01S
(Min. ~ Max.) vJ
A A 9 13 13 9
o
H B 13 18 19 il
C 175 25 35 155
< : D 5 6 3 5
s > E 99 133 168 29
F 175 215 25 175
VNITR R E) G 25~3 35~5 5~6 15~2
Fow et asimet st
H 95~115 | 145~155 | 15~16 9~10
sn / DA o J 25~5 | 356 5~8 25~5
- AL ) i = = =
ot v \AERIPOM  rah v G1/8 G1/4 G3/8 G1/8
VA 16 21 2% 16
vB 13 13 14 13
VH 3 5 6 3
v 8 10 14 8
VK 12 17 19 12
%3238 Mounting details VL 7~11 75~115 | 85~125 8~11
—_— M M6x075 | M8x075 | M10x075 | M6x0.75

j;@%ﬂsm&%ﬁu C 05
s may b o b
®04) 802
®O4H Tl
SRR O] Hyaraut piging hole B
(2RA) (secondary sie)
] I
2 i
sif ¥ I8 e >§[%¢
: =
o6 Min~Max) |I| z
3
IO (1R () H

Hydraulc pping hole (pimary side)

X REHMTRERS | AR AR AR,
( FEASBUER oD NI, Y EMESUNTAIREAAE. )

: If there are problems with mounting hole finish, it might
not be possible to mount or adjust flow rates ( particular
care must be taken with the finish of oD hole and
‘concentricity of Y-portion thread process).

‘45 BRI Mounting Control table

HVCFO01
HCTUOL, 02, 04 06 HBTUO2. 04 06

TR AR (R EHR )

Swing clamp (double acting)

L RS R A AR T BB IR T
2.8 OB AR R A U
AT R R R (GEE) .
3 ERMEARE T ETRERE. TR GERES RN,
4. ZEFOREMEGR (HVCFD) MRERE.
5. R R A ERARSITHRE. KERLREERNRALH
R A — B — B R AR M R B M

1. Use a closed wrench or socket wrench for mounting and dismounting.

2. Flow control valve can be mounted on hydraulic port (G port) when
manifold piping.

3. Adjust flow rate without hydraulic pressure. Conducting adjustments
with hydraulic pressure may result in damaging seal.

4. Diagram above indicates mounting for meter—in (HVCFL).

5. HVCF is shipped with the valve fully open. Adjust the flow rate by
loosening the screw after it is tighted up to close the valve.

HVCF03 HVCF01$
HCTU25 HBTU2S -

HVCF02
HCTUI0. 16 HBTUIO. 16

RS R RIS (R EHRY )

Swing clamp (single acting)

HCTTO1. 02. 04. 06

HCTT10. 16 HCTT25 -

SEAT RER RIS (WEHRY ) HBLUO2,

Link dlamp (double acing)

04, 06

HBLU10. 16 HBLU25 -

3% THRIFIMEREIMER T The workpiece supportis only in the oil throttle

224

W02 NOYSORYM} MMM




